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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any ten questions: 2x10=20
@I i eesm Teq wie ¢

a) Given a utility function u = f(q,, q,) where

u = utility q,, q, are commodities, find du.
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b) IfA—[3 5} and B = sl

Can you calculate AB? If not why?
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What is the co-efficient matrix of the following

system? Use the order x, y, z.

5z-5x+7y = 4
—2z-6y = -1
—Tyt3x +z=1

TG T “Mwfed ¢weg =t s’ e
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Find the elasticity of demand, given that

Q= P where K is a positive constant.

viftwir o Rfogiererm s Ay 3 799
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Find the degree of homogenity of the following

function:
s srsmslba smaghon sar @ 77 ¢

f(x, y) = X’y — y’x.
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What do you mean by point of inflection?

e WM Ty JeT0e & @RI

What do you mean by quasi convex function?
‘AR T AT oo B @R

Define Rank of a matrix.

W ieEe Fce! e |

Find equilibrium level of income (Y) of the

following model:

f0a Sees (At SRy ow (Y) e 59 ¢

Y=C+1

C =20+ 0.5Y,4
Yi=Y-T
T=03Y
1=150

Define Lagrange multiplier.
SToNG @RS FER] TG |

What do necessary and sufficient conditions

mean?

ARG IR 2% *SE B0e F (@R 2

[3] [Turn Over]

D)

n)

2. Answer any four questions:

Evaluate the following determinant:

1 1 4
A=8 11 -2/
0 4 7

If the marginal propensity of save (MPS)
function is S'(Y) = 0.3-0.1Y-% and if
aggregate saving S is nil when income Y is 81,

find the saving function S(Y).

TR AT HeET 2IeTS! SAFF0 (AF AT
SRS e T4, @A G %67 (S) %+ =8
o o7 (Y) =T 811

What is homothetic function?

@WIRGT ST wIre T @Ri2
5x4=20
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The demand function is q = 10-P, when
P = Rs. 6 and q = 4 units. If the price rises by
5%, determine the percentage change in

quantity demanded and also find the price

elasticity of demand. 25425
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Bifwl o q = 10-P @R P = Rs. 6, q = 4
G 2 AM W 5% Jhan #A17 O vifenis *resal
sAfasa T 27 2 Bifenia viw ozl T 732

L3
Given the production function q = —? +

21L*+ 12L, find average productivity of labour
(L) and also find at what value of L average
productivity starts falling. 2:+25=5
L3

ATE BRAW S(HF q=—?+2L2 +12L-93
CFCg W@ (L) 5TC Seolmeierel 6T 9 @33
L-93 (I S 91 SesAwaierel Z (510 @3
@ o fefm 741
Solve the following linear programming
problem graphically:
=2 (LPP) Sopifs Torad sgea STelge 39 2
Minimize : Z = 2x,+3X, subject to constraints.

X, tXxX,>5

X, +2x,>6

x,>0,x,>0 5
What do you mean by Euler's theorem? If
Q = AK“LP where 0<a<1, 0<p<I1, a+p=1 and
Q, K, L are output capital labour respectively
prove the Euler's theorem for Q = AK®LP.

2+3
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SEETR S oo 6 e I Q = AK LS
27, @ 0<a<l, 0<B<I, at+p=1 ¥R Q, K,
L 2l oA, ot <R € ST SAEE
TA SATRG (T SEEDT TAATS @rmiel
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What do o and B represent for a Cobb-
Douglas production function, Y = AK“LP where
ot = 1 0<a<l, 0<p<I1? 5

OF FI-TIE TeAW ST Y = AKOLS,
@A otp = 1 0<a<l, 0<p<] 93 ST
o, p & o ane S0

When U(X, Y) = A [aX "+(1-a) Y]
with A>0, 0<a<l. Show that MRSy =

L(XJW S
-\ X '

9T UK, Y) = A [aX ™+(1—a) Y] 7 @R
A>0, 0<a<l

Y

(1+p)
o
@AE T MRSy = g(ij |
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3. Answer any two questions:

The demand functions for two goods are given

as follows:
w6 w@a siftwl s e = ¢

ql — pl—l.7 p20.6, q2 — pl0.4 p20.8.

Calculate the two crossprice elasticities of

demand and comment on it. 5

OR o e 91

10%x2=20
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1) The demand functions of two commodities

X, and X, and cost function are as follows:

X, '@ x, M0 T HIfRA| Sorweefe 9k 7
RS W0 ere 2w 8

1
X, =3 (108 — P)) and

1
X ZE(35—P2)

2

— 2 2
C X *+x,

Find the maximum profit.

A e e 59
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11) A firm with total cost TC = 50+3Q for
Q units of output sells its output at price
P = 5. Find out the break even level of
output. 7+3

a3 Tesime  efewi (N6 W TC =
50+3Q, Q 25 SAWMHT AR, AM SeAW
#few® P = 5 iy vl [RE =, o
TAMC SRR O e SLAMCTH
sifase T 2@ e 541

A consumer has the utility function:
G (SIS G SATFRL 25 ¢
U = 1.5 lux +ux,

Find his optimal purchases of goods x, and x,
when the unit prices of the goods x, and x, are
Rs. 3 and Rs. 4 respectively and his income
Rs. 250. 10

(TSI O 250 TP R &S GF x| T € x,
T W I IAFE 3 G € 4 B =W O @

A salesman has the following record of sales
during three months for three items A, B and
C which have different rates of commission.
Find out the rates of commission (in Rs.) on
items A, B, C.
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Months | Sales of Unit Total

A B C | Commission
June 90 | 100 | 20 800
July 130 | 50 | 40 900
August 60 | 100 | 30 850

10

d) Formulate a differential equation from the

following demand and supply equations:

7 AT T AR GFH SR AN
519 F9 2
Where,
¢=abp;a b>0 ..1 P = price

Qd = Quantity demanded
Qs = —mtnp; m, n > 0 ... 2 | Qs = Quantity supplied

d
p 2L _ change in price with

d W(Qe-Qy) ;o >0 ... 3] &

dt respect to time.

Find the time path of price and interpret.

VIR T A2 e 39 ¢ o7 e s 791
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